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Partial Products Method #1

Step 1. Multiply by the ones.

Step 2. Multiply by the tens.

Step 3. List the partial products.

Step 4. Add all of the partial products to find the total.

Exampﬁe: 54 x 26 54  think50 + 4
x 26 think 20 + 6
24 (6x4)
300 (6 x 50)
80 (204) Direcbions: Find the product
+1,000 (20 x 50) ) )
_— using the partial products method.
1,404
1. 2.
218 713
x4 |5 x| 1|4
410(=5x8 112|{=4 x 3
1100 = 5 x 20 2|18|0| =4 x 70
3/2]0|=40x 8 3/0/=10x 3
+ 80 |0| =40 x 20 + 7/0/0| =10 x 70
1, 2 6 0 1, 0 2 2
3. 4,
8 |1 6|3
x |9 |2 x|219
2= 2 x 1 217 =9 x 3
1{6[0|= 2 x80 5/4/0| =9 x60
9|0(=90x 1 60| =20 x 3
+1712|0]|0| =90 x 80 +1112|0]0| =20 x 60
7, 5 2 1,8 2 7
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5. 4.
716 413
x| 21 x |58
6| = x 6 214|=8 x 3
710 = x 70 312|0|= 8 x 40
11 2|0 =20 x 6 150 =50x 3
+ 4/ 0|0 =20 x 70 +]1210]/0]0| =50 x 40
, 59 6 2, 4 9 4
7. 8.
511 1
x|515 x 8
5 =56 x 1 8|=8 x 1
2/ 5/0[=5 x 50 8/0|= 8 x 10
510 =50 x 1 1/0|=10x 1
+ 50| 0| =50 x 20 + 110/0]=10x 10
, 0 5 9 8
?. 10.
316 313
x 2|2 x|715
1/2|=2 x 6 1/5|=5 x 3
6/0| =2 x 30 1/15/0|= 5 x 30
12| 0| =20 x 6 2(1|/0[=70 x 3
+ 6/ 00| =20 x 30 +12[1|/0|0|=70 x 30
7 9 2 2,4 7 5
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